	Games and Behavior - The Problems



 Guess 2/3 of the average (#1) 




Top of Form

	 
	 
	 

	The Problem
	 
	 

	Each of you (the students in this course) have to choose an integer between 0 and 100 in order to guess "2/3 of the average of the responses given by all students in the course".

Each student who guesses 2/3 of the average of all responses rounded up to the nearest integer, will receive a prize to be announced by your teacher (or alternatively will have the satisfaction of being right!).
What is your guess?

	My Guess:
	[image: image2.wmf]


	 

	 
	 
	 


Bottom of Form

	Click for the:

	


	Winner in your class


	


	Statistics
	 
	 
	 
	All Courses
	 

	 
	# of answers: 
	 
	16
	6903
	 

	 
	Average: 
	 
	39.81
	36.01
	 

	 
	 
	 
	 
	 
	  
	


	Answer  
	%
	 
	all%
	

	0-1
	6%
	[image: image4.png]



	11%
	[image: image5.png]




	2-13
	6%
	[image: image6.png]



	10%
	[image: image7.png]




	14-15
	12%
	[image: image8.png]



	2%
	[image: image9.png]




	16-21
	6%
	[image: image10.png]



	6%
	[image: image11.png]




	22
	0%
	[image: image12.png]



	3%
	[image: image13.png]




	23-32
	6%
	[image: image14.png]



	11%
	[image: image15.png]




	33-34
	6%
	[image: image16.png]



	11%
	[image: image17.png]




	35-49
	25%
	[image: image18.png]



	12%
	[image: image19.png]




	50
	12%
	[image: image20.png]



	14%
	[image: image21.png]




	51-100
	19%
	[image: image22.png]



	21%
	[image: image23.png]





All strategies besides 0 and 1 are eliminated by successive elimination of dominated strategies. Both 0 and 1 can be a part of Nash equilibria.
	Games and Behavior - The Problems


 Successive Elimination (#4) 




Top of Form

	The Problem
	 
	 

	You are player 1 in a two-person game with the following payoff matrix:
What will you play?

	 
	 
	 


Bottom of Form

	Statistics
	 
	 
	 
	 
	 

	# of answers: 
	 
	16
	All: 
	6803

	
	
	
	
	

	Player 2
A
B
C
D
Player 1
[image: image26.wmf][1] A
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1,4

0,4

[image: image27.wmf][2] B 
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1,1

[image: image28.wmf][3] C 
7,0

2,2

1,5

5,1

[image: image29.wmf][4] D 
9,5

1,3

0,2

4,8


	
	
	
	


	 
	Player 2

	
	A
	B
	C
	D

	Player 1
	[image: image30.wmf][1] A
	5,2
	2,6
	1,4
	0,4

	
	[image: image31.wmf][2] B 
	0,0
	3,2
	2,1
	1,1

	
	[image: image32.wmf][3] C 
	7,0
	2,2
	1,5
	5,1

	
	[image: image33.wmf][4] D 
	9,5
	1,3
	0,2
	4,8



	Answer  
	%
	 
	all%
	

	[1]
	0%
	[image: image34.png]



	4%
	[image: image35.png]




	[2]
	0%
	[image: image36.png]



	28%
	[image: image37.png]




	[3]
	50%
	[image: image38.png]



	37%
	[image: image39.png]




	[4]
	50%
	[image: image40.png]



	31%
	[image: image41.png]





B is the only action which survives the successive elimination process.  The choice of C and D is probably the result of the high payoffs attached to some entries in the rows of those actions.

	Games and Behavior - The Problems


 Battle of the Sexes (#5) 




Top of Form

	The Problem
	 
	 

	You are playing the "Battle of the Sexes" which has two players "He and She". 

He prefers that they meet at "T" while she prefers that they meet in B.

In bi-matrix language the game is as follows: 
Play the game in the role, which fits your real gender.

	 
	 
	 


Bottom of Form

	Statistics
	 
	 
	 
	 
	 

	# of answers: 
	 
	16
	All: 
	6297


	 
	She

	
	[image: image44.wmf][1] T
	[image: image45.wmf][2] B

	He
	[image: image46.wmf][3] T
	2,1
	0,0

	
	[image: image47.wmf][4] B 
	0,0
	1,2


	Answer  
	%
	 
	all%
	

	[1]
	0%
	[image: image48.png]



	10%
	[image: image49.png]




	[2]
	6%
	[image: image50.png]



	28%
	[image: image51.png]




	[3]
	62%
	[image: image52.png]



	48%
	[image: image53.png]




	[4]
	31%
	[image: image54.png]



	14%
	[image: image55.png]





In most of these, more males choose their preferred action, since we have a relatively small percentage of males (6.25% of respondent… or Emma), we have a relatively high percentage of males going for female alternative 31%.

	Games and Behavior - The Problems


 Chicken (#77) 




Top of Form

	The Problem
	 
	 

	You are player 1 in a two-person game with the following monetary payoff matrix. What will you play? 


	 
	 
	 


Bottom of Form

	Statistics
	 
	 
	 
	 
	 

	# of answers: 
	 
	16
	All: 
	3764


	 
	Player 2

	
	A
	B

	Player 1
	[image: image58.wmf][1] A
	3,3
	2,4

	
	[image: image59.wmf][2] B 
	4,2
	1,1


	Answer  
	%
	 
	all%
	

	[1]
	31%
	[image: image60.png]



	51%
	[image: image61.png]




	[2]
	69%
	[image: image62.png]



	49%
	[image: image63.png]





Both (A,B) and (B,A) are pure-strategy Nash equilibria. Interesting is that, relative to “all” you are more willing to “play chicken” than swerve”, often leading to bad outcome (B,B).

	Games and Behavior - The Problems


 Allais (part 1) (#39) 




Top of Form

	The Problem
	 
	 

	Imagine you are to choose one of the following two lotteries : 

Lottery A yields $4000 with probability 0.2 and $0 with probability 0.8. 

Lottery B yields $3000 with probability 0.25 and $0 with probability 0.75. 

Which lottery would you choose ? 


	 
	 
	 


Bottom of Form

	Statistics
	 
	 
	 
	 
	 

	# of answers: 
	 
	16
	All: 
	3883


	 
	

	
	

	
	
	[image: image66.wmf][1] I would choose lottery A

	
	
	[image: image67.wmf][2] I would choose lottery B


	Answer  
	%
	 
	all%
	

	[1]
	69%
	[image: image68.png]



	62%
	[image: image69.png]




	[2]
	31%
	[image: image70.png]



	38%
	[image: image71.png]





The results sharply conflict with expected utility theory. 

The EU of lottery A is: .2*4000 + 0 = 800

The EU of lottery B is: .25*3000 + 0 = 750

So payoff maximizers would pick A.

	Games and Behavior - The Problems


 Allais (part 2) (#40) 




Top of Form

	The Problem
	 
	 

	Imagine you are to choose one of the following two lotteries : 

Lottery C yields $4000 with probability 0.8 and $0 with probability 0.2. 

Lottery D yields $ 3000 with probability 1. 

Which lottery would you choose ? 


	 
	 
	 


Bottom of Form

	Statistics
	 
	 
	 
	 
	 

	# of answers: 
	 
	16
	All: 
	3529


	 
	

	
	

	
	
	[image: image74.wmf][1] I would choose lottery C

	
	
	[image: image75.wmf][2] I would choose lottery D


	Answer  
	%
	 
	all%
	

	[1]
	19%
	[image: image76.png]



	25%
	[image: image77.png]




	[2]
	81%
	[image: image78.png]



	75%
	[image: image79.png]





The results sharply conflict with expected utility theory. 

The EU of lottery A is: .8*4000 + 0 = 3200

The EU of lottery B is: 3000 = 3000

So payoff maximizers would pick A (but it is riskier – this could lead to risk aversion ideas). 

	Games and Behavior - The Problems


 Ellsberg 1 (#51) 




Top of Form

	The Problem
	 
	 

	Imagine an urn known to contain 30 red balls and 60 black and yellow balls, the latter in unknown proportion. One ball is to be drawn at random from the urn; the following actions are considered:

"bet on red": yielding $100 if the drawn ball is red and $0 otherwise.

"bet on black": yielding $100 if the drawn ball is black and $0 otherwise.

Which action do you prefer? 


	 
	 
	 


Bottom of Form

	Statistics
	 
	 
	 
	 
	 

	# of answers: 
	 
	16
	All: 
	1197


	 
	

	
	

	
	
	[image: image82.wmf][1] "bet on red"

	
	
	[image: image83.wmf][2] "bet ob black"


	Answer  
	%
	 
	all%
	

	[1]
	69%
	[image: image84.png]



	62%
	[image: image85.png]




	[2]
	31%
	[image: image86.png]



	38%
	[image: image87.png]





	Games and Behavior - The Problems


 Ellsberg 2 (#52) 




Top of Form

	The Problem
	 
	 

	Imagine an urn known to contain 30 red balls and 60 black and yellow balls, the latter in unknown proportion. One ball is to be drawn at random from the urn; the following actions are considered:

"bet on red or yellow": yielding $100 if the drawn ball is red or yellow and $0 otherwise.

"bet on black or yellow": yielding $100 if the drawn ball is black or yellow and $0 otherwise.

Which action do you prefer? 


	 
	 
	 


Bottom of Form

	Statistics
	 
	 
	 
	 
	 

	# of answers: 
	 
	16
	All: 
	1107


	 
	

	
	

	
	
	[image: image90.wmf][1] "bet on red or yellow"

	
	
	[image: image91.wmf][2] "bet on black or yellow"


	Answer  
	%
	 
	all%
	

	[1]
	12%
	[image: image92.png]



	21%
	[image: image93.png]




	[2]
	88%
	[image: image94.png]



	79%
	[image: image95.png]





	Games and Behavior - The Problems


 Outbreak of Disease* (part 1) (#57) 




Top of Form

	The Problem
	 
	 

	Outbreak of disease will cause 600 deaths in the US. Two mutually exclusive programs are expected to yield:

A: 400 people will die
B: With probability 1/3, 0 people will die and with probability 2/3, 600 people will die.

You are an officer in charge of choosing one of the two exclusive programs.
What program would you choose?

	 
	 
	 


Bottom of Form

	Statistics
	 
	 
	 
	 
	 

	# of answers: 
	 
	16
	All: 
	2816


	 
	

	
	

	
	
	[image: image98.wmf][1] A

	
	
	[image: image99.wmf][2] B


	Answer  
	%
	 
	all%
	

	[1]
	25%
	[image: image100.png]



	28%
	[image: image101.png]




	[2]
	75%
	[image: image102.png]



	72%
	[image: image103.png]





This is the first part of the famous experiment conducted by Tversky and Kahneman (1986) demonstrating framing effects. In problem 57 most people (78% in the original experiment) chose B. 
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 Outbreak of Disease* (part 2) (#58) 




Top of Form

	The Problem
	 
	 

	Outbreak of disease will cause 600 deaths in the US. Two mutually exclusive programs are expected to yield:

C: 200 people will be saved
D: With probability 1/3, all 600 will be saved and with probability 2/3 none will be saved.

You are an officer in charge of choosing one of the two exclusive programs.
What program would you choose?

	 
	 
	 


Bottom of Form

	Statistics
	 
	 
	 
	 
	 

	# of answers: 
	 
	16
	All: 
	2635


	 
	

	
	

	
	
	[image: image106.wmf][1] C

	
	
	[image: image107.wmf][2] D


	Answer  
	%
	 
	all%
	

	[1]
	38%
	[image: image108.png]



	51%
	[image: image109.png]




	[2]
	62%
	[image: image110.png]



	49%
	[image: image111.png]





In problem 58 subjects (72%) chose C. This is in spite of the fact that A (from the last problem) and C are "the same" and B (from the last problem) and D are "the same".
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